; how to transform the graph of y = VX to obtain the graph of each function. State
omam and range in each case.

= 3\[—(x +4)-2 b) y = —2\}4(x H+5
0 y = 4G+ 1) -4 ) y=~{3x+I)

- 2. Write the radical function that results from applying each set of transformations to the
graph of y = +x.

a) vertical stretch by a factor of 3, reflection in the x-axis, a translation of 4 units right and
2 units down

b) horizontal stretch by a factor of i, reflection in the y-axis, a translation of 5 units left '
and 3 units up

¢) vertical stretch by a factor of 2, horizontal stretch by a factor of 3, translation of 4 units
left and 1 unit up

d) vertical stretch by a factor of 3, horizontal stretch by a factor of 31 reflection in the
x-axis and y-axis, and translation of 6 units left




3. Match each function with its graph.

1) y=22(x-2) +2 b) y =-2\2(x=2) +2
O y=X=2x-2)+2 dy= 2Y=2(x-2) + 2
A ) B Y
"' P
8 8 /,/
4 4 /1
-3 12 ol V Y NEREEN 10]
// 4 4
o 4
C 2 D 7
8 . 3
& \\\ &
" N
-2 123 To \ 1 e -4 12 Jo w;
A \\ A
y y

4. Sketch the graph of each function using transformations.

a) y=3%x-1+4 - b) y=-4Vx+3-2

a=__b=__ h=___k _




|

@) y=-320+1-4

K}

|

Apply

- 5. For.each graph, write the equation of a radical function of the form y = ab(x—h) + k.
a) Y4 b) X4
’ 8 < & yu
’ »
2 - —3 0 10X
| 14 -2 [0} b B
2 4
: c) 7 d) 7]
? TS e 1{[5
: T 1% o e
ol
'] \\ ue
¥ i ™




6. Consider the function y = %\1'6_3? .
a) Describe the transformations that were applied to y = v to obtain this function.

b) Write a function equivalenttoy = %\/3; in the form y = avi. Describe the
transformation applied to y = VX to obtain this new function.

¢) Write a function equivalent toy = %VG—JE in the formy = vbx. Describe the
transformation applied to y = X to obtain this new function.

b) y=—Vx+3+2

©) y=Vx+5-2 Q) y=—k+2-2
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3. Identify any restrictions on the variables, Then, ve each equa

graphically. Sketch the graph on the grid.
a) x+2-4=-2 ) b) x-5=3

0 3V—x=12 d) 2NT—4x=-6




er2 Review

caI.Fimctions and Transformations, pages 39-46

jon. Then, draw a sketch of the new function.

Iam ow to transform the graph of y = v to obtain the graph of each transformed

H~(x-5) +1 b) y=-3y2(x + 1) -3
Vi yi
0 x - 0

2. For each graph, write the equation of a radical function ; in the form y= ayb(x -y + k.

State the domain and range.

a) b)
i . Vi ¥/
4 4
{18 B
A) 7
2z 2
-8 [ -1 o x -8 [—6 |-% [} Jo 1 | ¥
—4, 1) AN
= = S =&
X Sr=g)
4 4
)
=1j=5} 2Dy
6 &
8 \\ Q.
8 = 38
A\ n y




5. Identify any restrictions on the variables. Then, solve each radical equation graphically.
a) k—1-5=-2 . b) ‘Jx+3=—1. '

7 I | | mEi

1

|

\

1

T i1

A

=)
’
=
\

T

\

1

1]
11

|

\

1)

1A

14

H
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Chapter 2

2.1 Radical Functions and
Transformations, pages 39-46
1. a) vertical stretch by a factor of 3, reflection in
the y-axis, transiation 4 units left and 2 units down;
domain: {x|x=-4,x €R}; '
range: {y|y=-2,y €ER}
b) vertical stretch by a factor of 2, reflection in
the x-axis, horizontal stretch by a factor of 7,
translation of 3 units right and 5 units up; domain’
{x|x=3,x ER};range: {y|y =5,y ER}
¢) vertical stretch by a factor of 4, borizontal
stretch by a factor of %, translation of 1 unit left
and 4 units down; domain: {x|x =-1,x €R};
range: {y|y=—4,y€R}
@) horizontal stretch by a factor of %—, reflection
in the x-axis and y-axis, translation 2 units left;
domain: {x | x <-2,x €R};
range: {y|y =0,y €R}
2. 2) y=-3x—4-2

B y=vdx+5+3
9 y=2\}—_(gx+4)-+1
d) y=-320(x+6)

3.3.9B BHC oD DA




. 5 8 y= B\I—x_T+lory 1}9(35'_4+1
(/h?— . b) y=2fx + ) ~2ory=dx +3) -2

' g y=—4E=Z+30ry=—T6G=D) +3
@ y=2EFi-dory=~EETD-4

6. a) vertical stretch by a factor of %and horizontal

stretch by a factor of %
. : ¥6
=1+ 4 : b)y= g-\l—x; vertical stretch by a factor of 5

¢ y= \g;; horizontal stretch by a factor of %

2.3 Solvmg Radical Equations
Graphically, pages 55-62

1. ) x=22 b) x=43
Q) x=20 & x=3
‘ ' 2. 2) x=3
71
I RY 5
4 y=vx+2=1

Y

B0 o=

14
|
=]
H

b) x=1
FE 1) 1 ; . ' 7]
N ~J_ [ (1} 0} N
x NEREED . 4 ix
2 \\*
Y 1Vi+3 +2
_J'
L
= r




¢) x=-1

BEZY c) xsl;x=—]5 ’
3
N vV 542 -
z ’_—._—' 3
B 10 |11 N ]
-8 |—6 |-4=T |0 % MPPPPRN
: § ]
4 2ero 3
R=-ik ¥=
]
d x<025x=-2
d) no solution .
) , 3 ]
- i
3 12 lo ] x .
hNNEZEY Y e )
c T ™ . - =72 =
g Chapter 2 Review, pages 63-64
1 1. a) vertical stretch by a factor of 4, reflection in

the y-axis, and a translation of 5 units right and ) -
a) x=2,x=2 1 unit up a x>1 x=10

Iy E&/TH-F 1
— : N e s
: ) | I;t:;::::
2. 1 .
ﬁggﬂ 2 H=1g ==z
b) x=5 14 =4 -2 |o s 5 by x = -3; no solution
x=5x= : = -
H _ :
b) vertical stretch by a factor of 3, reflection in the e
x-axis, horizontal stretch by a factor of 0.5, and e
a translation of 1 unit left and 3 units down E T
YA .
N 2 -
jA=1h ¥=0 - N
NI REEERD >
)\
yi= F3VAx =1 13
a\
r

2. ay y=~4Vx+5+3; domain: {x [x =-5, x ER};
: range: {y|y<3 YER}
b) y =3V¥x—2-5; domain; {x|x>2,xER}
range: {yly>-5 YER}







